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Name: ___________________________________________________________

What are the key words in each question? I have highlighted the first few.
1: ‘The Pilgrimage of Grace was a major threat to Henry VIII and his regime in 1536.’ How far do you agree with this view?
Explain your answer, using Sources X, Y and Z and your own knowledge of the issue related to this controversy.

2: ‘Queen Elizabeth successfully managed her Parliaments in the years 1566-1588.’ How far do you agree with this view?
Explain your answer, using Sources X, Y and Z and your own knowledge of the issue related to this controversy.

3: ‘Side-taking in 1642 was not determined by class.’ How far do you agree with this view?
Explain your answer, using Sources X, Y and Z and your own knowledge of the issue related to this controversy.

4: ‘Cromwell’s failure to achievement government by broad consent was a result of resentment of ‘rule by the sword’.’ How far do you agree with this opinion?
Explain your answer, using Sources X, Y and Z and your own knowledge of the issue related to this controversy.

5: ‘The deteriorating economic climate brought about the downfall of the constitutional monarchy in France in 1792.’ How far do you agree with this view?
Explain your answer, using Sources X, Y and Z and your own knowledge of the issue related to this controversy.

6: ‘Effective cooperation between the European powers was the decisive factor in the collapse of Napoleon’s empire in 1814.’ How far do you agree with this view?
Explain your answer, using Sources X, Y and Z and your own knowledge of the issue related to this controversy.

7: ‘The Peterloo Massacre was of little significance for the country as a whole.’ How far do you agree with this view?
Explain your answer, using Sources X, Y and Z and your own knowledge of the issue related to this controversy.

8: How far do you agree that there was a definite improvement in the standard of living in the years to 1830? 

Explain your answer, using Sources X, Y and Z and your own knowledge of the issue related to this controversy.

9: ‘Abraham Lincoln’s election as President of the USA in 1860 made Southern Secession inevitable.’ How far do you agree with this view?
Explain your answer, using Sources X, Y and Z and your own knowledge of the issue related to this controversy.

10: How far do you agree that superior military leadership was the main factor explaining the North’s victory in the Civil War? 

Explain your answer, using Sources X, Y and Z and your own knowledge of the issue related to this controversy.

11: The USA was hit by the Great Depression in 1929 because of increasing restrictions on international trade.’ How far do you agree with this view?
Explain your answer, using Sources X, Y and Z and your own knowledge of the issue related to this controversy.

12: How far do you agree with the view that the USA’s economic recovery in the period January 1933 to December 1941 owed more to the development of a war economy than to the impact of the New Deal?

Explain your answer, using Sources X, Y and Z and your own knowledge of the issue related to this controversy.

13: ‘German aggression was responsible for the outbreak of a general European war in August 1914.’ How far do you agree with this view?
Explain your answer, using Sources X, Y and Z and your own knowledge of the issue related to this controversy.

14: To what extent do you agree with the view that Hitler was a ‘non-interventionist dictator’?

Explain your answer, using Sources X, Y and Z and your own knowledge of the issue related to this controversy.

15: ‘The British guarantee to Poland in 1939 aimed to deter Hitler but not lead to war.’ How far do you agree with this view?
Explain your answer, using Sources X, Y and Z and your own knowledge of the issue related to this controversy.

16: How far do you agree with the view that there was widespread expectation of extensive social reform when the war ended in 1945?

Explain your answer, using Sources X, Y and Z and your own knowledge of the issue related to this controversy.

17: How far do you agree with the view that, during the inter-war period, the League of Nations was undermined mainly by defects in its own constitution?

Explain your answer, using Sources X, Y and Z and your own knowledge of the issue related to this controversy.

18: The war of 1939, far from being premeditated, was a mistake, the result on both sides of ‘diplomatic blunders’. How far do you agree with this view?
Explain your answer, using Sources X, Y and Z and your own knowledge of the issue related to this controversy.

19: How far do you agree with the view that the development of the Cold War in the years 1945-48 owed more to Soviet expansionism than to the USA’s economic interests?

Explain your answer, using Sources X, Y and Z and your own knowledge of the issue related to this controversy.

20: How far do you agree with the view that the Cold War came to an end because of mounting economic pressure on the Soviet Union during the 1980s?

Explain your answer, using Sources X, Y and Z and your own knowledge of the issue related to this controversy.

Essay Plans

Level 1: Level 1 answers are usually generalisations. You write a series of paragraphs which make ONE GENERAL point, e.g. 

The First World War broke out in 1914 because ……..

Level 2: Level 2 answers are usually descriptive, i.e. you tell the examiner what happened:

In 1908, the Bosnian Crisis ……

In 1911, the Second Morocco Crisis

In 1912, the First Balkan War…….

NB These essays are usually chronological and go through EVENTS in sequence.

Level 3: Level 3 answers are explanations; they explain a series of factors why one or other of the alternatives is better, e.g. 

The Alliance System meant that …….

The Naval Arms was a major factor in the outbreak of war because it….. 

The Scramble for Africa had serious consequences for …..

NB Ideally, paragraphs/factors should be arranged in an order which makes sense and links should be made between them. 

NB Factors are NOT events!!!

Level 4: Level 4 answers are sustained arguments. You make clear which of the alternatives you are going for in the first paragraph and then present an argument supporting your decision.

Your essay should have three parts:

1: Introduction

2: Argument

3: Conclusion - this should take the initial statement slightly further than in the introduction; e.g. some ideal of scale, numbers affected etc.

NB: The introduction and conclusion must state the same decision; logically, therefore, you should decide on your conclusion first, before you start writing.

NB: the quality of your answer is NOT decided by the decision you make; it will be decided by the quality of your argument.

Level 5: Level 5 answers are sustained balanced judgements; they are similar in format to Level 4 answers, but not only put forward your argument in support of your decision, but also include a counter-argument rejecting other possible interpretations.

1: Introduction

2: Argument

3: Counter-argument

4: Summary of balance

5: Conclusion
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	Austria-Hungary’s leaders ruled a multi-national empire. They felt that Serbian-backed separatism threatened its survival. Already by 1913 they had decided that only force could solve the problem. But they knew a war against Serbia was almost certain to escalate, and before sending the ultimatum they consulted their ally, Germany, whose leaders urged Austria-Hungary to use force and promised backing if Russia intervened (the secret ‘Potsdam blank cheque’, 5-6 July). The Germans’ motives have been intensively debated. From their perspective, Austria-Hungary was their one reliable Great-Power ally, and enemies ringed them. France and Russia had allied in 1892-94, and since 1904 Britain had co-operated with them. Germany had conducted a battleship-building race against Britain and an army race against France and Russia, and since 1905 the two blocs had clashed repeatedly over Morocco and the Balkans. The German leaders were readier to risk war because they believed the current military balance favoured them but would soon deteriorate.


	


	Source 1

Germany was responding to the threat of encroachment from other powers, i.e. France and Russia. The formation of the Dual Entente, the Entente Cordiale and the Triple Entente all suggested that the fear of a war on two fronts was being realised. Such fears were exacerbated by news of Russia rearmament from 1912 and of Plan 17. The German people were told throughout the Great War that it was defensive; Germany was under threat and had been forced to defend itself against foreign aggression.


	

	Source 2

In July 1914, the situation got rapidly out of hand. There were too many individuals in positions of power in 1900-14, who failed to realise the significance of the events which were unfolding. The Kaiser adopted an openly provocative stance on many occasions, but sometimes realised, usually too late, the damage that he was doing. He dashed off the Kruger Telegram in 1896, but then refused to allow Kruger to speak and raise support in Germany during the Second Boer War. Conrad, the Austrian Chief of Staff, was determined to destroy Serbia but appeared blithely unconcerned by, or unaware of, the threat from Russia. Tirpitz wanted a High Seas Fleet, for no very good reason, but was probably never really prepared to put it to the test of the Royal Navy
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	Hitler was not in the habit of writing policy statements and did so only at decisive moments in the history of the regime. Late summer 1936 was one such pivotal moment.   Hitler rejected the cautious projections of his Economics Minister, the banker, Hjalmar Schacht, and Reichsbank economists who sought limitation of arms production and diplomatic detente.    Instead Hitler launched a strategy of autarky.   An umbilical cord linked the Four Year Plan to the Hossbach Memorandum of 5 November 1937.   This was further dramatic, and decisive, intervention by Hitler, indicating to his closest advisers that he planned war and so catapulted the German economy into a dramatically higher level of mobilization. It was a process driven by Hitler.   No matter that, like Göring, who was put in charge of the Four Year Plan, Hitler was ignorant of economics, with no stomach for mastering the minutiae of industrial policy.   What counted was the assertion by Hitler of his authority over economic policy.


	


	Source 1

To his senior aides, Hitler could be distant and difficult to understand. The concept of an all-powerful and omniscient Fuhrer was built up by the Nazi Party under Goebbels direction. This meant that Germans who were not members of the Party were forced to accept decisions against their own better judgement. This could be a major weakness as no one could refuse to obey an order from the Fuhrer, even when he was obviously wrong. During the war it became a serious weakness. In public his subordinates appeared to remain totally committed to his ideology and worked assiduously to implement the will of the Fuhrer. In private there was much competition between his leading lieutenants as each tried to expand their influence and control in the Party and Germany. Hitler had five ‘separate secretaries’, all of whom attempted to organise his diary and programme. These were used by different leading Nazis to try to expand their personal empires with the Party and the state.


	

	Source 2

Hitler’s aides were given licence to develop their own ideas. By encouraging rivalry and empire-building, he was giving living examples of Social Darwinism, the concept of the survival or the best and fittest. His subordinates would be encouraged to produce rival plans and answers to key issues and Hitler would then be able to pick the most appropriate and implement it, sometimes claiming credit for it himself. What is certain, however, is that did however maintain a dominant influence over appointments, promotions, dismissals and policy-making, sometimes interfering at the last minute. He could also be unpredictable, at times delegating to subordinates on other occasions interfering, sometimes at the last moment. 


	


Source 1
Assassinations of royal figures did not normally result in war, but Austria-Hungary's military hawks – the principal culprits for the conflict - saw the Sarajevo assassination of the Austro-Hungarian Archduke Franz Ferdinand and his wife by a Bosnian Serb as an excuse to conquer and destroy Serbia, an unstable neighbour which sought to expand beyond its borders into Austro-Hungarian territories. Serbia, exhausted by the two Balkan wars of 1912-13 in which it had played a major role, did not want war in 1914. Broader European war ensued because German political and military figures egged on Austria-Hungary, Germany's ally, to attack Serbia. This alarmed Russia, Serbia's supporter, which put its armies on a war footing before all options for peace had been fully exhausted.

Source 2

WW1 did not break out by accident or because diplomacy failed. It broke out as the result of a conspiracy between the governments of imperial Germany and Austria-Hungary to bring about war, albeit in the hope that Britain would stay out. Germany's military and naval leaders, the predominant influence at court, shared a devil-may-care militarism that held war to be inevitable, time to be running out, and - like their Austrian counterparts - believed it would be better to go down fighting than to go on tolerating what they regarded as the humiliating status quo. In the spring of 1914, this small group of men in Berlin decided to make ‘the leap into the dark’ which they knew their support for an Austrian attack on Serbia would almost certainly entail. The fine-tuning of the crisis was left to the civilian chancellor Theobald von Bethmann Hollweg, whose primary aim was to subvert diplomatic intervention in order to begin the war under the most favourable conditions possible. In particular, he wanted to convince his own people that Germany was under attack and to keep Britain out of the conflict.

Source 3

The actual decision to go to war over a relatively minor international crisis like the Sarajevo murder resulted from a fatal mixture of political misjudgement, fear of loss of prestige and stubborn commitments on all sides of a very complicated system of military and political alliances of European states. The war was no accident and it could have been avoided in July 1914. In Vienna the government and military leaders wanted a war against Serbia. The immediate reaction to the murder of Franz Ferdinand on 28 June 1914 was to seek redress from Serbia, which was thought to have been behind the assassination plot and which had been threatening Austria-Hungary's standing in the Balkans for some time. Crucially, a diplomatic victory was considered worthless and ‘odious’. At the beginning of July, Austria's decision-makers chose war.

To what extent was the failure of Germany to restrain Austria-Hungary in July 1914 responsible for the outbreak of a general European war in August 1914?
Explain your answer, using Sources 1, 2 and 3 and your own knowledge of the issues related to this controversy.

	Completely


	

	Largely


	

	A Little


	

	Not at all


	


Source 4
Hitler’s authority over both Party and state was unchallengeable after the events of 1934.   The broad mass of Germans was loyal to their Führer. Hitler was often slow to act, but the system became so attuned to his signals that a raised finger was enough. Furthermore, it was Hitler who set the radical new tone in the second half of the 1930s in the policy areas of mobilizing the economy for war, ramping up Foreign policy, jettisoning conservative, cautionary voices and intensifying anti-Jewish measures.
Source 5

Hitler disliked the potential check to his authority posed by any collective body. Cabinet government atrophied from 1934 as the dualism of party and state created confusion.  Positions on paper often meant little or nothing in reality as power rested with those individuals who could fight their way to the top and had immediate access to Hitler. 
Reverting to the bohemianism of his teens and twenties, Hitler did not make decisions in the conventional sense of signatures to policy documents or after collaborative discussion.   Yet at critical times he could be decisive. There can be no doubt that the big decisions of foreign policy were his.

Source 6

In many ways, Hitler was utterly useless as head of state, presiding over administrative chaos and creating a morass of competing authorities.   Lazy, arrogant, profoundly narcissistic, he had contributed as little as nothing to the running of the massively expanded Nazi Movement after 1930.   Once installed as Chancellor and particularly after the Night of the Long Knives and the death of Hindenburg these character deficiencies became accentuated.  In crucial areas of policy he offered not a clear programme but a set of metaphors.   How was this tolerated?  Hitler’s style of leadership functioned precisely because of the readiness of all his subordinates to accept his unique standing in the party, and their belief that such behaviour had simply to be taken on board in someone they saw as a political genius.  

How far do you agree that ‘Hitler was utterly useless as head of state’ (Source 6)?

Explain your answer, using Sources 4, 5 and 6 and your own knowledge of the issues related to this controversy.

	Completely


	

	Largely


	

	A Little


	

	Not at all


	


	Source 4

When Hitler became chancellor in 1933, he had just gained 33% of the vote in the November 1932 general election. In July 1932, the Nazis had won 38% of the vote and in the March 1933 election they reached 44% and in the November 1933 plebiscite won 88%. Of course, this last figure was heavily influenced by strong arm tactics, but even so, it is clear that the Nazis enjoyed wide-spread support in Germany when they came to power. 


	

	Source 5

The discipline and determination of the SA almost created a religious aura about Hitler, which he was keen to encourage once in power. Perhaps most persuasive of all was Hitler’s promise of a new order for Germany; the Volksgemeinschaft. This was not a new idea; Bethmann Hollweg had hoped that something similar would emerge to end the political wrangling that was so wide-spread in the final years of peace. Hitler was, therefore, appealing to a traditional theme in recent German history. However, he gave it a new bent; he dressed it up as an attempt to break down social barriers and unpick the complexities of modern society. Germany would become a simpler, more basic society; there would be respect for the farmer and the artisan; the overweening power of big business would be curbed and the deep divisions of Weimar would be healed.


	

	Source 6

There were obvious negative factors which help to explain the popularity of the Nazis; the experience of the previous years had been so appalling that many people were prepared to overlook the violence of the SA if it meant an end to the squabbles of Weimar. Some people dreamed of a return to stability of a more authoritarian form of government after the ‘democratic experiment’. Germany had only had a dozen of so years of democracy and, with governments increasingly coming to rely on presidential powers; it had lost much of its attraction. In any case, for many people, the most important factor was the ‘knife and fork’ question; what use was democracy if people were starving.


	


How far do you agree that ‘for many people, the most important factor was the ‘knife and fork’ in deciding to support the Nazis (Source 6)?

Explain your answer, using Sources 4, 5 and 6 and your own knowledge of the issues related to this controversy.

	Completely


	

	Largely


	

	A Little


	

	Not at all


	


1: Read the question highlighting the key words. 
2: Read the sources and work out what views are being put forward.

Paragraph 1 Brief introduction to the controversy setting it in context

Paragraph 2+ Review the sources, clearly explaining the view put forward in each. Are there are points of similarity/difference between the sources? Sources that agree should be linked.
The sources suggest differing views of ……. 
Source X (always begin with the source that is referred to in the question) puts forward the view that …..

Source Y on the other hand …….. 
Finally Source Z ………………

Paragraphs (?) 
Assess the views with support from own knowledge drawn from the sources. Do not add large amounts of own knowledge that are unrelated to the sources. Own knowledge should be developed from the sources and should not be ‘bolt-on’.
Paragraphs (?) 
Put forward the final judgement assessing the value of each of the sources and make your decision clear.
	Introduction


	

	Review sources explaining views in context


	

	Assess the views with own knowledge drawn primarily from the sources


	

	Final judgement assessing the value of the sources


	


	Introduction


	

	Review sources explaining views in context


	

	Assess the views with own knowledge drawn primarily from the sources


	

	Final judgement assessing the value of the sources
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	Largely


	

	A Little


	

	Not at all


	


	Introduction: make a clear statement about ‘how far’


	

	Argument for 


	

	Counter-argument


	

	Why better?


	

	Conclusion: introduction +


	


PAGE  
26

